Section-I11
LOGIC /| REASONING

Read the paszage cardfully and answer the following g usstions.

“There are ax steps that lead from the first to the second floor. No twe people can be on the same step. Mr. A is two steps below Mr, C and Mr, B is 2 step next to M. D. Only one step
15 vacant (No one &5 standing on that step). Denote the first step by step 1 and second step by step 2 etc.”

1. IfMr. Ais onthe first step, which of the following is mse?
(2} Mr. B is onthe second step
(b)) Mr. C iz on the fourth step
(e} Mr, E, could be on the third step
(d) Mr. D is on higher step than bMr, C

2. If Mr. E was on the third step & Mr. B was on a higher step than Mr. E, which step must be vacant?
(a)atep 1  (b)step 2 () step 4 (d)step 5

3, 1fMr, B was on step 1, which step could A be on?
(a)2 & 3 only bi3&donly ()3&Sonly (d)4&S only.

4. If there were two steps between the step that A was standing and the step that B was standing or, and A was on a higher step than
D, A mausst be on step _.

(a)2 )3 ()4 ()3

3. In A language, if mtelligent is coded as hosflomhhdos, how is “pspect’ coded?
(a)ttofdu  (b)ittofbu () rvrgdds (d} rvrghds

6. In 2 elass composed of x girle and v bovs, what pant of class is composed of grle?
(a)¥ix+vy) (b)x'xy () x(x+v) (d)v/'xy

7. There are 200 guestions on a 3 hr examination. Among these questions, 50 are maths problems. It is suggested that twice as much
timee be spent on each maths problem as for each eother question. How many miruies should be spent on mathematics problems?
(a) 36 by 72 (&) 60 {d) 1040

Riad the passage cardfully and answer the following questions.

“All G's are H's. All G's are F'sor K's,
A5 and K's are G's

All L's are K's.

ANl WN"g are M5

Mo Mz are G's”

§. If no P's are K's, whach of the following must be true?
{a) Al s are I's
biNePisa G
{c) Mo Pisan H
(d)Ifary PisanHitisa G

%, Which of the following can be logically deduced from the condsions stated?
{a)MoM'sare H's
{b) Mo &'s that are not N's are H
{c) Both a and b are cormeect
{d) Mene of the abave it comect

10, Which of the following incensistent with one or more of the conditions?
{a) Al Hs are G's
(b)) All H's that are not s are M's
{c) Some H's are both M's and G's
{d) Mo M'sare H's

Read the passage cardfllly and anmwer the following guesions.

“5ix swimmmers A, B, C, D, E, F compete in a race. The outcormne is as follows.
B does not win.

Only two seummers scparate E& D,

Alsbehnd D & E

. Bisahead of E, with one soinumer intervening

Fiz ahead of D

. Fiz ahead of D"

4 29 pEe

11. Who stood fifth in the race?

EVE b} B (e)C {HE
1I. How many svummers separate A and F7
{a)l (b2 {c)4 (d) canniot be detemmimed
13. The swimmer between C & Eis _.
{a)Neme B)F {e)D B
14. If at the end of the race, swiumnmmeer I 15 disquahfied by the judges then swimrmer B finishes i which place?
(a)l (b2 (c)}3 ()4
15 If“"PROMPT" is coded as QSFLOS, then "FLAYER" should be
(2) QMBZFS (b) QWMFDW () QUREXM (d) URESTI

Ihe guestions [30-135 are based on the following paitern. The problems below contain a guestion and two sialemenis giving certain daia. Fou have to decide whether the daia given
in the statements ara suffleians for answering the guestions. The correct answer is

(A IF starerment [T) alons i sufficient but staternent (1) alane is not sufflecient.

(B) If statement (11} alons iz sufficient but statement(l) alons 15 not sufficent,

{C) If both statements together are sufficsent but nether of statements alone 15 sufficient

(D) If bath together are not sufficient.
15, What is John's age?

(T In 15 years John will be twice as old as Dias would be  (I1) Dias was bom 5 years ago

16, What is the distance from city Ate city © in kms?
(1) City A is 50 ks from City B (1) City B is 30 kms from City C

17. If A=C_A B, C are real mumbers, then -
Ty A-B=B-C (I A2C = C.2B

18, What 15 the 30th term of 2 gven sequence?
(I} The first two terms of the sequence ate 1,%  (II) The common difference is -1/2

189 Was Avinazh eatly, on time or late for work?
Ty He thought hiz watch was 10 minutes fast (I} Actually his watch was 5 mimates slow

20. What is the valoe of Aif A is an integer?
MA=1 AnA*+1=0



